
Warm-up 
 
Fill in the blank with “<”, “>”, or “=” to make the statements true 
 
−2 #

$
	____ − 2	 '

$
      (

'
	_____	1.667 

 
 
Find a decimal and a fraction that are both in between the pair of numbers:    -
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Solve 
 
−1.76 − (−4.52) = 	 ______________      _______________ + 8.48	 = 	−3.91 
 
 
 
 
 
 
 

  



 

 
 

 

 
 
 

Try making your own!  
You can give them to a friend to solve or try it yourself! 
 
 
 

 
 
 
 
 
 
 
 
 
 
 

 

 

  



Answers: 
1/3; 1/5 
1/2; 1/4 
4/9; 2/3 
3/4; 1/2; 1/4 
 
 
 
 


